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AstIEF L=2.90 m 2TX = 239.8 m , 813.65 m2
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P.0 3,20
P 15.0 15.00 2,80 3,000 15.00
P.30 15.00 3,50 3. 150 17.25
P40 10.00 1,30 3,900 39,00
*;&Eig P50 10.00 1,90 1,600 16.00
8B A P. 60 10.00 3. 50 1,200 12.00
St ) U . . P70 10.00 2,90 3,200 32,00
‘Eﬁ"z‘zﬂﬁﬂwfﬁ (AS‘Eﬁ"z‘zHﬁ 15¢cm LLF) [=6.10m = 6.0m P. 80 10.00 2,90 2,900 29.00
P. 100 20,00 2,90 2,900 58,00
SRR R (ASEAZERR  150mLLTF) A= 813.65 = 814.0 m2 NI L0 20 250 550
SER (L=, OknblT) V=40.68 = 41.0 m3 (813 65x0.05) BT I L i i
" . P 175 15.00 3,00 3,000 15.00
noE  EHOLRES) V="41.0 m3 P.I8L.5 6.50 3,20 3. 100 20, 15
6,20
ThEEE (FHEME Rc30 30mmi2RE) A=813.65 = 814.0 m2 P 190 8.50 4.50 5,350 45,18
P, 198 8,00 3,00 3,750 30,00
£BT (3.0mi ., 50mm , BWEWHE PK=3) A-813.65 = 814.0 m2 o i o g g
P.220 10.00 1,30 1,850 1850
REEET (RE B N=8.0N (SHZERIEE~TREE 4A =E 4N XHKEEED) b, 226 6.00 3,50 3,900 2140
P.233 7.00 3,10 3,450 21,15
P.241.8 6.80 2,90 3. 150 21,12
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